FHIEE BRHFH

1. —fBsEt TR (M)
Tk A ik H
K &  m EN 4 A
1. A A4 103,962 .=t 502
2.[HE X4 11,870 2. F5 117,423
3.4 A4 42,986 3. 65,724
4 il 4 30,000 4. F{ L4 18,119
5.58IA 31,024 5.5 X & 13,074
mAGE 219,842 6. T2 5,000
AL KA 219,842
2. ZEBMEEXIILEAISE
(EBHE) (M) (FHD
57 A [ H
1.k 669,717 LB E 499,654
2. [EJdE 3 4 8,652 2L.EEEZEEDR 42,006
3. M K ZEREE 12,312 .EREAEGESE 2,270
4.8 A& 63,418 4. L7 NER 18,946
5. 8Bk 4 42,000 VAT LR R4 :
6. 56U A 43,019 5. /834 206,792
AR 839,118 6.58 X H & 61,410
7. Tt 8,740
e gt 839,118
(EREZEHRMZILRTE) (FH) (FH)
ik A Ik H
L E R 2R s A e 103,164,120 IMES[S=s il e o 103,164,120
BAGED 103,164,120 i aE 103,164,120
(NEEEERICETIZEREMIIEE) (M) (FHD)
I A ik tH
LAEARERESZ AE 11,927,352 LAFERERIHE 11,927,352
AT 11,927,352 AR e N 11,927,352
(HEFTRE—BSICAIIZILEE) (M) (FH)
ik A ik H
K 4 # K &
1LHEEFTR &S AE 509,040 1LHHETIR—RE&%E I HEe 509,040
ASE 509,040 ATl 509,040




3. HUERHEERERBREBERNS

(EFEHTE) (FH) (FH)
ik A ik
K & i B &
1. FHckH 558,471 1 408,136
P ES ] iy 1,865 LEBEZH ST 53,461
3ARAL 56,736 3. RERdE A AR 4 1,514
4. 14 10,000 4. F85 4 132,262
558 1,537 b.af 4 28,583
HAGE 628,609 6. T f 2¢ 4,653
55 628,609
(RienEERZERMZILEE) (FH) (FH)
5 A i H
R ER 1 FERER =
1.5 = I 1. 1% Y0 = i [0
RN 198,835,620 e S 7 1 198,835,620
e ASEH 198,835,620 mHEEt 198,835,620
(AESHEERICEHTS2EEBMILEIE) (TH) (+H)
T, A [ H
LABARERSZ AE 2,538,156 LAEAERER 4 2,538,156
mAGE 2,538,156 AR 2,538,156
4. BB REBF LE=EE (FH) (FH)
i, A ik
1R 7E 3 P FH A 10 1.5 4 46,540
2.8 A4 46,530 AR 46,540
mASE 46,540




5. NMERREXREREHEHNSE

(EBHE) (M) (FH)
A ik H
7 4 PN 4
L. FHcEl 216,833 1LBERE 176,888
2.[E 3 4 674 2LEEZB=H 2,976
3. BT I S 4 283 3 —E R =
4. 604 2,160 HIHENEEE S
5.9 ETFIhr T 4 AEEDH O ERR I 979
XA 78 i o
Az A e 5. s a e 39,784
6.4 A4 24,364 6.9 & T Ih T
7. BN 35,000 XA 78
8.5V A 896 A& AE
AR 280,288 7884 32,863
8.7k X & 15,590
9. Fim i 10,358
A E 280,288
(MR EETIME) (FH) (FH)
ik A ik H
& 4 H = & &
LI sEfa = A& 129,872,028 Lo 2 L4 129,872,028
2ArETh- 2.9 T
ERCGRE ST 3,499,776 H & ATE 5 3,499,776
- REFEERT AL BEHEER TS
AR 133,371,804 e H & EE 133,371,804
(NEAPERICETIHEMEIHEE) (TH) (FH)
ik A ok H
K & i K &
LABARERSEZ A AE 1,172,964 LABRAHRERSIHE 1,172,964
AGE 1,172,964 &gt 1,172,964
6. EEEREXZELIBEGRERSFRIEE
(EHFHTE) - (FH) _ (FH)
K & H #Z &
1B 60,601 LiaEE 42,514
2.4 A4 5,253 2.ERP s a e 14,776
3.4 3,000 3.4 7,655
4. GEIN 642 456 24 3,465
BEASE 69,496 5. T 1,086
et & at 69,496
EENERFELEE) (-FH) (FH)
ik A ik tH
N & R 2K & M
L REE TG 1T 2 52 A4 27,946,164 | LIRE SRS {8 30 H4 27,946,164
HASEF 27,946,164 i S EE 27,946,164
((EERIEHEZILEITE) (£H) (M)
[ . ka Hi
1ﬁ$5'ﬁ'ff%1ﬂ3:“)\% 4,730,940 [ 1.FE5E A f—fam‘%fztt’./f 4,730,940
S 2 4,730,940 &t 4,730,940




7. BEREZE - FERREEEFSRENREH

(XHBEIE) (G (M)
ik A i H
2K & FiE| K &
L FEHcE 31,298 LIsHE 32,922
2.4 N4 3,390 205574 8,475
3.4k 4 1,000 3.ah % 4 4,662
4. 580 A 12,255 4. T d 1,884
mAGE 47,943 AL =NAR 47,943
(FERZ- ##Ef%ﬁi?ﬁﬁ%%ﬁi%&hi) (M) (FM)
3 % HH
R FE (LR %4# Rt = - FrEMZ %\4# it & -
LR EMTS - FrEMR 1557 TE
BT A T RS & e Feirlne
BRASE 757,053 i aEk 757,053
(&ﬁamﬁ%{ﬁi“%ﬁmi%&ﬂi) (TF) (M)
A s H
W fﬁé‘ﬁi - a H fﬁ%ﬁ% £ o
1.7 W 2 1. 1% W& a2
TR 182,455 2 % M1 182,455
A SR 182,455 A et 182,455
8. EEREERESHIFIRET
(EHBEE) (FM) =)
5 A ik H
K & il 2k & 5
1. 80k 48,825 1 iF5 T 50,987
2. [E i 2 4 850 2.F8 & 4,647
3 kA 12,000 3.58 & 4,332
4. 5EA 185 4. Tl 1,894
BASE 61,860 s 61,860
(E%E&fﬁ“*fﬁ%?ﬁi%&ﬂi) (M) CEHED
ik A ik H
ZK & A 2K &
| R E R A A4S 620,000 18 S I 4 S 4 620,000
2.7 4 1 2. T 1
mADE 620,001 i HEEE 620,001




